Writing frame 

The causes of the French Revolution have been interpreted in different ways by different historians.
The classical interpretation is the Marxist one which makes the following claims........
Examples of Marxist historians include...... who say that........
The Marxist interpretation was challenged in the 1950’s by revisionists.
The leading revisionist was Alfred Cobban and his argument included.....
Other revisionists include.... who argue....
A third interpretation is ‘New revisionism’. Examples include...... who argue ..........
The interpretation I find most convincing is.......
This is because.........
